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(i) & o0 AT 9 G favawmi &— & @ AT |
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(iv) THTIT & Gl 97T & 3T U 81 @ W feafaw |

General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all.

(iii)

There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.

(iv) All parts of a question should be attempted at one place.
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aT - %
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

1. B0, 9 997 IET I BH T & & TGN TeuT s THd [Id-Taeror a8l @ & 9 o
Z 12,000 T 3T IIT T AT | & Bl 3F ART D1 T0AT A & 0 T8 AT FENT B
ST

() T, T T I b YN WAl & ST SRR
@) &L, TH q41 I % G @il & A o SRR
(M) 9 AT I % Gl @il o AT H SRIeR-aRE
() 9 AT I YAl @il o T H SRIeR-SRE

On the retirement of Hari from the firm of ‘Hari, Ram and Sharma’ the balance-sheet
showed a debit balance of ¥ 12,000 in the profit and loss account. For calculating the
amount payable to Hari this balance will be transferred

(a) to the credit of the capital accounts of Hari, Ram and Sharma equally
(b) to the debit of the capital accounts of Hari, Ram and Sharma equally
(c) to the debit of the capital accounts of Ram and Sharma equally

(d) to the credit of the capital accounts of Ram and Sharma equally

2. AR, gHT q°T AT UH BH P GERR F q41 3 : 2 : 2 F U § AL ded o |
23 STHeRT, 2015 T IHT 1 ST & T | 3Tkt Tog i [ o o AT H g7 & 90T 6
o % 2,350 I 7 |

FH i TR H g9k o0 Taaeh IS Hfafte iy |

Kumar, Verma and Naresh were partners in a firm sharing profit & loss in the ratio of
3:2:2. 0n23" January, 2015 Verma died. Verma’s share of profit till the date of his
death was calculated at ¥ 2,350.

Pass necessary journal entry for the same in the books of the firm.

3. 39 o & I AT |

Give the meaning of forfeiture of shares.
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4, S fEAmes T 2 10 9989% % 1,00,000 THAT 320 & 0 27aeT At 6y | i 7 v
AT A

AT W — T 3 feT 3iwT

3 W — T 4 TfeT 39T

T AT ST ITeAT W — I

95,000 33T & o0 STMETT UTeT §U e T SMAShi i 39T T 3Teied HT 37 77 | Fieg
3, 9 500 379 &1 T foRar T on, STEed AR W PIAR Fel HAT | w7 3geh!
3afed fohd T 750 379 IR UT 37 T T PIAM e AR 6 Wi W @ Sew ugy vy
3t e T o FEATAd © | 3Tee U WTeT 0T o 1
() < 3,80,000

(@) ¥ 3,78,000

M ¥ 3,80,250

& 4,00,250

Joy Ltd. issued 1,00,000 equity shares of I 10 each. The amount was payable as
follows :

On application — X 3 per share.
On allotment — X 4 per share.
On 1* and final call — balance

Applications for 95,000 shares were received and shares were allotted to all the
applicants. Sonam to whom 500 shares were allotted failed to pay allotment money
and Gautam paid his entire amount due including the amount due on first and final call
on the 750 shares allotted to him along with allotment. The amount received on
allotment was

(a) ¥ 3,80,000
(b)y 3,78,000
(¢) %3,80,250
(d) 4,00,250

5. WERH G % 3T9E H B 1 oY WERRT & Te ST S 8
() e ST H
@) =X
(M &Y % FIGE % [oTT o T 999 & ST §
(F)  WEERI S W€ AT & AR 1

In the absence of partnership deed the profits of a firm are divided among the partners :

(a) In the ratio of capital
(b) Equally
(c) Inthe ratio of time devoted for the firm’s business

(d) According to the managerial abilities of the partners
67/1/3 3 [P.T.O.



6. W NANMTUH HH H ARER AT 4 : 3 :2: 1 % UG § o sed o 1 1-1-2015 &
Wﬁwwéslioﬂma»-%fq‘@* I T 74T WERR SE | T AU @ WiHaw & fow

% 10,000 TE AT FSTHehT ohEl, oRamehi , Il H Wl Y A | 36 I erardret o
Q&b H @A = % 1,00,000 H ST | T G § FE Fel BT 2 HAH I h gHe H
FHROT 3T |

A, B, C and D were partners in a firm sharing profits in the ratio of 4 : 3 : 2 : 1. On

1
1-1-2015 they admitted E as a new partner for 10 share in the profits. E brought

% 10,000 for his share of goodwill premium which was correctly recorded in the books
by the accountant. The accountant showed goodwill at ¥ 1,00,000 in the books. Was

the accountant correct in doing so ? Give reason in support of your answer.

7. ufadfa WitHEw 1 ST (i) U7 Ued aFe SRl o R @9 (i) iR 6 ufd s %
fareer o9 31X 329l & ToTu fohaT ST |1 € | 37 S29a1 ol Sooid HiT |

Securities premium can also be utilized for three other purposes besides (i) ‘Issuing
fully paid bonus shares’ and (ii) ‘Buy back of shares’. State those purposes.

8.  1-4-2013 = <17 @1 fa=/ 3, qRad 91 Use &= § e TR fo=erar i JanTiet
ST T ST e, SRR 1 8707 b | S=i- shAsT: T 80,000 T T 50,000 i St
TS qAT 3 : 2 F I H oY s & [l Geud g0 | QR o | Ui W) 9% ufaad
T S HIUEEH | a9 § B F T 7,800 HT AT HAET |
3TOHT OIS Sl T €9 F T §T 31-3-2014 I IO §C a9 & o0 <171 721 fas

A-BT IS @ar daR ST |

On 1-4-2013 Jay and Vijay, entered into partnership for supplying laboratory
equipments to government schools situated in remote and backward areas. They
contributed capitals of I 80,000 and I 50,000 respectively and agreed to share the
profits in the ratio of 3 : 2. The partnership deed provided that interest on capital shall
be allowed at 9% per annum. During the year the firm earned a profit of ¥ 7,800.

Showing your calculations clearly, prepare ‘Profit and Loss Appropriation Account’ of
Jay and Vijay for the year ended 31-3-2014.
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9. TF HMl feafgeg T 100 ¥dF & 1,00,000 FHAT 397 7 fawrerm ¥ 1,00,00,000 ht e gsit
% G ST & | BT 5 ¥ 40 Ui ST & WiEEm 9 50,000 ST 61 A A | ue
POt STk ey 500 3197 &, = T 20 Uiq 311 H AfAH A=A H PIAE TRl fHA | /R
39T 3T &X0T T fotdm T |

FHEET ATUFEE, 1956 B gel VI 90T 1 % 3AR ST o Fefd foeRor § gqet <37 gei”
TR SHINTT | @Al o T Aled” ot TR i | 3

Sun Pharma Ltd. is registered with an authorized capital of ¥ 1,00,00,000 divided into

1,00,000 equity shares of ¥ 100 each. The company issued 50,000 shares at a premium
of ¥ 40 per shares. A shareholder holding 500 shares did not pay the final call of ¥ 20

per share. His shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per Schedule VI

Part I of the Companies Act, 1956. Also prepare notes to accounts.

10. T goa fafes’, A, S Fuel & HHmar aor faidas € | e T e wee %
ARE-fafa 61 % 10 7fE S qwT S HUe died B HuE fen | FwEE F 3 e %
50 ST Bl A IO T TS TS Skl H Apt 37 B 00 forar | B A T 10 S %
40,000 FHAT 3797 T27 T 100 TS & 1,000 9% FOTIHAT T FHTH TRN-RE & Sgfaparet s
% 5,00,000 T 367 I TS TR o [T TR |

METTF ST Ufafted! BT | HEr §RT THIST U fhT S Aol ot s 7o ot
TEIH | HIT | 3

‘Sangam Woollens Ltd.’, Ludhiana, are the manufacturers and exporters of woollen
garments. The company decided to distribute free of cost woollen garments to
10 villages of Lahaul and Spiti District of Himachal Pradesh. The company also
decided to employ 50 young persons from these villages in its newly established
factory. The company issued 40,000 equity shares of ¥ 10 each and 1,000 9%
debentures of ¥ 100 each to the vendors for the purchase of machinery of I 5,00,000.

Pass necessary Journal Entries. Also identify any one value that the company wants to

communicate to the society.
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11. T, &) o ©UL U B & 9EER 9 | 31-3-2014 &l &1 o1 fefq foeror f e o -
Vo rr:sT . rr:sT

ATeR 10,000 | Fa= T weny 40,000
AT o 30,000 | FHER 15,000
S foyerer 20,000

T 30,000 /R 20,000

& 30,000 Tefaar 25,000

O 20,000 | 80,000

1,20,000 1,20,000

31-12-2014 T &1 T SEI=T &1 T | WERR! G d W € o g AR & o
& = T '
(i) HIH WERR % Ui @I & A |
(i) TG i fafT T Gt W 6% Afdad i 3T F T |
(il) Tt foeroT ° <9 T SATaNd T 3T B | ST 9T |
(iv) 39D g i [T 0 B & A | TR 90T, [5aent T s a9 & foshd W I

TN W I F YR W I STRAT | et av & gk W 3F @ @ X 20% o |
31-12-2014 T &H &1 fasha T 6,00,000 2T |

3T SRR Sl T A & T & T IS @I GaR i |

Sunny, Honey and Rupesh were partners in a firm. On 31-3-2014 their Balance Sheet
was as follows :

Liabilities Am;’““t Assets Am;’““t
Creditors 10,000 | Plant and machinery 40,000
General Reserve 30,000 | Furniture 15,000
Capitals : Investments 20,000

Sunny 30,000 Debtors 20,000
Honey 30,000 Stock 25,000
Rupesh 20.000 80,000

1,20,000 1,20,000

Honey died on 31-12-2014

. The partnership deed provides that the representatives of

the deceased partner shall be entitled to :

@
(ii)
(iii)
(iv)

Balance in the capital account of the deceased partner.
Interest on capital @ 6% p.a. upto the date of his death.
His share in the undistributed profits or losses as per the balance sheet.

His share in the profits of the firm till the date of his death, calculated on the
basis of rate of net profit on sales of the previous year. The rate of net profit on
sale of previous year was 20%. Sales of the firm during the year till 31-12-2014
was < 6,00,000.

Prepare Honey’s Capital Account to be presented to his executors.

67/1/3
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12. FUR, Tl T HAal Th FH % AERR & T2 AN e ded § | F Faqd
TesaTei ST T YUSROT T foeRoT AT & AT 9k TS Y6 | oA Sel W & € | 0
TISTH T Teie AR, AT T ShiadT AT 3R W I & | Tl 51T Jaie fohd ST oot
TS ! FadTiaes Tt § Seia’l & SR 38 SART HY AT 98 @1 € | Tl 3 3708
oo o5 o § 3T 9T i S SR, S AR q9r Hiaar 3 79 o | Au ey s
FHIAT1:2: 1 W HEA &8 | 7% foIw wH =l @fq &t 7o wF & st g ot & siiad
TN & T & YR W e T 07 Toran 7o | et ot at 1 g e wehr 9 o

L) qH

4
I 4,00,000
11 4,80,000
11 7,33,000
IV (&) 33,000
\% 2,20,000

(i) Y ! AT I T BN |

(i) FHR, AT TAT HiedT o o fOI= ST | aRad= & HROT @M o @i & [T
3MEAYTF ST WA HIT | 4

Kumar, Gupta and Kavita were partners in a firm sharing profits and losses equally.
The firm was engaged in the storage and distribution of canned juice and its godowns
were located at three different places in the city. Each godown was being managed
individually by Kumar, Gupta and Kavita. Because of increase in business activities at
the godown managed by Gupta, he had to devote more time. Gupta demanded that his
share in the profits of the firm be increased, to which Kumar and Kavita agreed. The
new profit sharing ratio was agreed to be 1 : 2 : 1. For this purpose the goodwill of the
firm was valued at two years purchase of the average profits of last five years. The
profits of the last five years were as follows :

Year Profit
4

I 4,00,000

II 4,80,000

111 7,33,000

IV (Loss) 33,000

A" 2,20,000

You are required to :
(1)  Calculate the goodwill of the firm.
(1)) Pass necessary Journal Entry for the treatment of goodwill on change in profit

sharing ratio of Kumar, Gupta and Kavita.
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13. &, (e 1 STiied Ush w9 & WERR & 927 5 : 3 ;1 % SO H o aed o 1 2-3-2015
T IADT BH T [aee & T | Gerad o1 foshd foRam T a9 SAarstl 1 ST fohat T |
e TH T Il G, UST @I q9T S W 59 T E | H % olETe | 3 @il § B

T < AT B & | W ARTET Bl GelT Yk 3 @Il bl T ST 6
™ g G LI
frae T fraen .
Tgfaan 10,000 | o 0T & feTT Hrerem 5,000
TR 25,000 | o= T RR 16,600
T AT JT 40,000| < faet 3,400
o Y 0T 15,000
o= e 16,000 S - FETIET 1 foshd
g faet 3,400 Tefaqan 6,700
T RO 15,000 34,400 SRR 12,500
b (375 HAOEA) 400| EEF @ IO 36,000 | 55,200
I (el =) 620 | Seh-oTET 7 H TE FEIEr
EORCED 6,220
1,10,420 1,10,420
faawor T fae ASER faawor qRT fae AR
z z z z z z
- - - - Y 3 AT 22,000/ 18,000/ 10,000
- - - - U 999 2,500 1,500 500
24,500\ 19,500, 10,500 24,500| 19,500, 10,500
A% Tt
M ST
fraem v feem v
Y M AT 19,500 | g QAT (SFAT) 34,400
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Bora, Singh and Ibrahim were partners in a firm sharing profits in the ratio of 5: 3 : 1.
On 2-3-2015 their firm was dissolved. The assets were realized and the liabilities were
paid off. Given below are the Realisation Account, Partners’ Capital Accounts and
Bank Account of the firm. The accountant of the firm left a few amounts unposted in

these accounts. You are required to complete these accounts by posting the correct

amounts.
Dr. Realisation Account Cr.
A
Particulars Am;)unt Particulars m;)unt
To Stock 10,000| By Provision for bad debts 5,000
To Debtors 25,000| By Sundry Creditors 16,600
To Plant and Machinery 40,000| By Bills Payable 3,400
To Bank : By Mortgage Loan 15,000
Sundry Creditors 16,000 By Bank — assets realized :
Bills Payable 3,400 Stock 6,700
Mortgage Loan 15,000 34,400 Debtors 12,500
To Bank (Outstanding repairs) 400 Plant & Machinery 36,000 | 55,200
To Bank (Exp.) 620| By Bank-unrecorded assets
realized 6,220
By —
1,10,420 1,10,420
Dr. Capital Accounts Cr.
Particulars| Bora Singh |Ibrahim | Particulars | Bora Singh | Ibrahim
3 3 3 3 3 3
- - - - By Bal. b/d 22,000{ 18,000{ 10,000
- - - _ |ByGeneral 2,500| 1,500 500
Reserve
24,500 19,500 10,500 24,500 19,500, 10,500
Bank Account
Dr. Cr.
Particulars Am;)unt Particulars Am;)unt
To Bal. b/d 19,500| By Realisation (liabilities) 34,400
To Realisation By Realisation (unrecorded 400
(assets realized) 55,200| liabilities )
By
By —
80,920 80,920
67/1/3 9 [P.T.O.



14, 1-4-2010 T GifeeT qAT T 7 4 : 3 ST H o e % 6T Uoh TERRT 518 | 1-4-2012
aﬁwﬁa&ﬁw%% 9T & oIt Ueh a1 WERR a9 519 @ = difeet 991 =hs | SRR

atfemied fRam | 31-3-2013 T IO §U 99 & o0 Qifee!, o1& q o 3 A= oy 3¢ 9
3T T ST fohal | 3T S7e 310 AT i faarR e 1 o fopa | tfafer Ooit

1 S B T SRR 1-4-2013 F 7 3 S 3 o g 5w
TEIRR FA=T 518 38 Aifeed adn 9rs § 7 : 3 % ST § siteufed 6 |

O T :

()  2012-13 a9 % foIC Hifeet, e AT T 1 31 A A |

(i)  UHIT o TERT W WIee, TR, o 4T YA 1 T4 A ST |

On 1-4-2010 Sahil and Charu entered into partnership for sharing profits in the ratio of

1
4 : 3. They admitted Tanu as a new partner on 1-4-2012 for gth share which she

acquired equally from Sahil and Charu. Sahil, Charu and Tanu earned profits at a
higher rate than the normal rate of return for the year ended 31-3-2013. Therefore, they
decided to expand their business. To meet the requirements of additional capital they

1
admitted Puneet as a new partner on 1-4-2013 for 7““ share in profits which he

acquired from Sahil and Charu in 7 : 3 ratio.
Calculate :
(1)  New profit sharing ratio of Sahil, Charu and Tanu for the year 2012-13.

(i) New profit sharing ratio of Sahil, Charu, Tanu and Puneet on Puneet’s
admission.

15. 9ra fafaes #t st 9sit T 20,00,000 o, ST T 10 T & 2,00,000 FHAT 3191 | forgert
off | AT 3 1,00,000 3791 1 70 T e 31-3-2008 % THG §T a9 & [T e
T 3791 T 2 o7 | A o UEEA F 39k SCART o TSI I UTe, e, St qe aieteer
o fara s o iy fomn | stfalie fom @t sawaendt & 1 A & o et o fasde
TeHeh o T9% MR AUSe o HHE FEfeRad i foshed 3 ¢

() 54,000 TEAT 37T HT FEET |

(i) 9RAE AFd Ud Haid S F 0T W 60 S | HOT 12% Wa 99 H S 57 W
3T T |

(i) 9% O F 10% % T3 W T fohar ST |
67/1/3 10




Ut faeReat Sl JoTT e o T¥aTd el 7 1-4-2008 3 T 100 T & 6,000 FOTHAT i
10% % S W TR 3 1 MO o/ | 37 0T 61 9e e o i 9 § S
Xk TR ThYAl | BT AT | A, Y, Uree T4 DS 9 o 3 H W R S et SHors
Ht RT F T ot

ay

III
v
\Y

VI

2008-09 F 2013-14 a4t & {70 9% FUTIT GAT 9N HIT |

o

L4
1,00,000
1,00,000
2,00,000
2,00,000

Bharat Ltd. had an authorized capital of ¥ 20,00,000 divided into 2,00,000 equity
shares of ¥ 10 each. The company issued 1,00,000 shares and the dividend paid per

share was < 2 for the year ended 31-3-2008. The management of the company decided

to export its products to the neighbouring countries Nepal, Bhutan, Sri Lanka and

Bangladesh. To meet the requirement of additional funds the financial manager of the

company put up the following three alternatives before its Board of Directors :

(1)  Issue 54,000 equity shares.

(1)) Obtain a loan from Import and Export Bank of India. The loan was available at

12% per annum interest.

(ii1)) To issue 9% Debentures at a discount of 10%.

After comparing the available alternatives the company decided on 1-4-2008 to issue
6,000 9% debentures of ¥ 100 each at a discount of 10%. These debentures were

redeemable in four instalments starting from the end of third year. The amount of

debentures to be redeemed at the end of third, fourth, fifth and sixth year was as

follows :

Year

III
v
\Y

VI

Prepare 9% Debentures Account for the years 2008-09 to 2013-14.

67/1/3
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16. G99 fetes 7 T 10 v & 40,000 3790 & 10% & 95 W FAHT 1 & oW 2qmeeT
ST Tohal | T T T T Tehe | AT o

FMEEA T 3Teed W — T 4 Uid 379

TH FTeT 9 — T 3 Ui e

T T 3w AT W - I

39,000 37T o feTT 3TAGT UTeT gU T Qeft SMATHT i 3T T 3Teie T 31 T |
P 1 158 T fqaror o STar o g

30,000 37T 9 — 9o MY

6,000 3R o — X 7 i 3

3,000 3R 0 — T 4 7 3T

ARt = 377 319Tt T 80T &Y fora 51 WX T 7 Wiy 3191 ¥ &9 W gU & | &0t Ty T 3wt
i T 8 UfT 3797 qO7 W& I FIred o fear T |

SURIKT T o T SHHT St G&Aehl | STEvgeh ISHIHET Ufaftedt hiteiw |

YT

Y fafmee’ 7 T 10 U@ & 12,000 THAT 3191 1 T 3 Uid 3797 o WiHas o a5
% T STag AR fohd | TRT ST ST 7 TehR & 3T o

SO TAT 3feed W — T 6 Ui 3191 (Sifay afea)

T AT UX — T 4 Uld 3797

O AT ST I W — I

18,000 3797 & TeIT 3Tel U U | Tt 3TARehT Sl STUNAE SMER W 3790 I 3Tee HT
feam T | SERT R AT SAfANER TR T RIS W ATeET W S T H Y forr w4 |
Tt et |1 S TE a2 U & e | fory ST 120 379 ST Swreied TR W o, 7 v A
TqAT THA o AT T T SJIA 1 AT | 3Tk 3790 T &07 T foran T | a2 fohdd T
39TF BT HPOT AT, 1956 & WAL % STER 3ieehan 9 R it X @ mr |

ST THIAT o 1T FHEAT St GETehl | STEvaeh ST Hafteat Hitey |
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‘Wellness Ltd.” invited applications for issuing 40,000 equity shares of ¥ 10 each at a

discount of 10%. The amount was payable as follows :
On application and allotment — ¥ 4 per share.

On first call — % 3 per share.

On second and final call — The balance.

Applications for 39,000 shares were received and allotment was made to all the

applicants.

The payment was received as per the following details :
On 30,000 shares — Full amount.

On 6,000 shares — % 7 per share.

On 3,000 shares — % 4 per share.

The Directors forfeited those shares on which less than ¥ 7 per share were received.

The forfeited shares were re-issued at T 8 per share as fully paid up.
Pass necessary Journal Entries in the books of the company for the above transactions.
OR

‘Subham Ltd.” invited applications for issuing 12,000 equity shares of ¥ 10 each at a

premium of ¥ 3 per share. The amount was payable as follows :
On application and allotment — % 6 per share. (Including Premium)
On first call — X 4 per share.

On second and final call — The balance.

Applications for 18,000 shares were received and pro-rata allotment was made to all

the applicants.

Excess money received with applications was adjusted towards sums due on first call.
All calls were made and were duly received except the first call and second and final
call on 120 shares allotted to Vibhu. His shares were forfeited. The forfeited shares
were reissued at the maximum permissible discount as per the provisions of the
Companies Act, 1956.

Pass necessary Journal Entries for the above transactions in the books of the company.
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17. <& T7 91 Ush ®H § WERR & a7 3 ;2 % U | o dfed & | 1-4-2014 0 376
Tt foeror =7 uepr 9 o

1-4-2014 WY =T 2T 26T w1 fearfer ferazor
4 4

S 17,000| Thg 6,000
=T T 4,000 SR 15,000
FHHART &ATAY(d P 9,000 | Farer 20,000
fereT IaR-FeE i 11,000| T 14,000
Tad TN % fold Trae 2,000 g q&T wo 38,000
i

T 30,000

Rl 20.000 | 50,000

93,000 93,000

T e 1 3 ey s 35 o e e o et 7 e e e e e

(®) T ¥ 20,000 AU G % ferw dor T 4,000 STUH AN % TGN % ferw
AR |

(@) W SRR I WS- qHAT T4 |
(M T % SR 9o ¥ 15,000 @ |

() HHIRI &fayd & T T 6,000 H TH G & |

(3) & qAT EWT % YT Wil b1 GHRISH AR i USt & STER 9 551 ST | 39 3299
% feTT =1e] @i @iet ST |

JHER @Il 9T FIERRT % UsT @ 7aR Hif |

YT
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aﬁﬁ,wwwwmﬁémﬁwwé,%wééwﬁwaﬁzﬁﬁ |

1-4-2014 &l T 7 TTHT TEUT ThaT | T o ST TgUT ohid A TH o1 Teifq foreror

G Recara oI

1-4-2014 T ATHA, T AT == &1 et faawor

o= e’ 12,600 4,100

wersg ffy 3,000 30,000

T 999 9,000| g1 : yragm= 1,000 29,000

G 25,000
T 40,000 10,000
Elggl 36,500 5,000
T=T 20,000 | 96,500 TR 48,000

1,21,100 1,21,100

TE T gam 146

(F) T 1 G T 27,000 TR fomaT STRAT |

(@) TINRI W 10% Toagd ohTT o |

() US=H FHl 20% HH HIT 41 |

() g ffy a1 39EE 32,400 T |

(¥ T=TA AR HIT 15,800 F & fomam |

() AHT TAT A = o] QI et T T YTt i 7T & ST T THRNS i BT

o form |

T & STAHRT TeUT T T G Gl a7 EIRRI o Ysil Tl JaR HifTT |
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Charu and Harsha were partners in a firm sharing profits in the ratio of 3 : 2. On

1-4-2014 their Balance Sheet was as follows :

Balance Sheet of Charu and Harsha as on 1-4-2014

Liabilities Amount Assets Amount
L4 L4
Creditors 17,000| Cash 6,000
General Reserve 4,000| Debtors 15,000
Workmen Compensation Fund 9,000| Investments 20,000
Investment Fluctuation Fund 11,000| Plant 14,000
Provision for bad debts 2,000| Land and Building 38,000
Capitals :
Charu 30,000
Harsha 20,000 50,000
93,000 93,000

67/1/3

On the above date Vaishali was admitted for %™ share in the profits of the firm on the

following terms :

(a)

(b)
(©)
(d)
(e)

Vaishali will bring ¥ 20,000 for her capital and I 4,000 for her share of goodwill

premium.

All debtors were considered good.

The market value of investments was 3 15,000.

There was a liability of ¥ 6,000 for workmen compensation.

Capital accounts of Charu and Harsha are to be adjusted on the basis of

Vaishali’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR
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Amit, Balan and Chander were partners in a firm sharing profits in the proportion of

1 1

on the date of Chander’s retirement was as follows :

Balance Sheet of Amit, Balan and Chander as on 1-4-2014

1
33 and I3 respectively. Chander retired on 1-4-2014. The Balance Sheet of the firm

Liabilities Am;’““t Assets Am;’““t
Sundry Creditors 12,600| Bank 4,100
Provident Fund 3,000| Debtors 30,000
General Reserve 9,000| Less : Provision 1,000 29,000
Capitals : Stock 25,000
Amit 40,000 Investments 10,000
Balan 36,500 Patents 5,000
Chander 20,000 96,500| Machinery 48,000
1,21,100 1,21,100

It was agreed that :
(a) Goodwill will be valued at I 27,000.

(b) Depreciation of 10% was to be provided on machinery.
(c) Patents were to be reduced by 20%.
(d) Liability on account of Provident Fund was estimated at ¥ 2,400.

(e) Chander took over investments for I 15,800.

(f) Amit and Balan decided to adjust their capitals in proportion of their profit
sharing ratio by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts on Chander’s retirement.

g
PART - B
(fareitar ferawutt &t faverom)

(Financial Statements Analysis)

18. ™= & ¥ fohdenl Tehg AT Aehg qod W QAT =Tl {ohaT STaT & 2

(F) Shi % UG TS A

@) 100 T&T Bl TRYeET % e ST

(T) = T ST & el

(&) THE T 1
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Which of the following is not included in cash and cash equivalents ?
(a) Balances with banks

(b) Bank deposits with 100 days of maturity

(c) Cheques and drafts on hand and

(d) Cash on hand

19. VIRET fAMHes 1 Uhg VaTe foer0T dar e TH T UREmiaa ¥ A 73 odgrd’
AT et B T #H & (o P o § SIS 531 T | 9 et T e |
Tl &7 ? SHROT FaTey |

While preparing Cash Flow Statement of Sharda Ltd. ‘Depreciation provided on fixed
assets’ was added to net profit to calculate cash flow from operating activities. Was the
accountant correct in doing so ? Give reason.

20. AN MY, 1956 H FAT VI 9T 1 % AR 4 A [FA-foh wient & oF=aia g9me
SR 2
(i) wEEE
(i) @ AR
(i) 3FETHIEAT T
(iv) OIS IMEA GO
(v) I0m ure e
(vi) T foreroT 1 9
(vil) AT FIF q4qT
(viii) T WG T
Under which heads the following items will be placed in the Balance Sheet of a
company as per Schedule VI Part I of the Companies Act, 1956 ?
(i) Cash in hand
(i) Mining Rights
(i11)) Short term deposits
(iv) Debenture Redemption Reserve
(v)  Income received in advance
(vi) Balance of the Statement of Profit and Loss
(vii) Office Equipments and
(viii) Work-in-progress.
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21. FAF fdfiee & gafud Fefafad 9o & (%) Fae W u@m a9 (@) Fo 9w wor
S EEIN] ! TOET aﬁﬁnz :
FEAT : TR gEEr 3 75,00,000; |6 T 3 40,00,000; @0 @A 2 27,00,000;
12% o193 T 80,00,000 TAT 1T, T TS THIRT T &8T5 o T 14,50,000 |
From the following information related to Naveen Ltd. calculate (a) Return on
Investment and (b) Total Assets to Debt Ratio.
Information : Fixed Assets ¥ 75,00,000; Current Assets I 40,00,000; Current
Liabilities ¥ 27,00,000; 12% Debentures T 80,00,000 and Net Profit before Interest,
Tax and Dividend % 14,50,000.
22. U foRius S 9 fafies i STesl-are AT Gied War & | THH! YeUT q97 ShiE-ael
HeTell, SHFR aer AR € 1 31 |, 2014 1 TH gT oY § ST T g AT &1 A7 &l
AT | 37 O ¥ STied BT o 31O Wl SHHETRET i T "I 1 AR - 7
9o T | 31 B, 2013 AT 2014 T TET g 90 & [T BT BN JoHTHD ATI-EI
foeror f=r TR @ €
gyt fafies
TS ATH-ET feraur
P AT | 2012-13 | 2013-14 | TRUw %
4. 2 2 ez | aRae
FHEFHAT T 3T 10,00,000| 15,00,000[ 5,00,000 50
o FHHAR! fed = 6.00,000| 700,000/ 1,00,000(  16.67
Y YA A 4,00,000{  8,00,000| 4,00,000 100
T X 25% 1,00,000 2,00,000/ 1,00,000 100
T qLEI o 3,00,000|  6,00,000{ 3,00,000 100
(%) 31 T, 2013 TAT 2014 % (AT I5 A 3T i T0ET BT |
(@) el 3T ST ! Ted DT o= 97 feAtHee MR ST el ¢ | 4
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The motto of Yash Ltd., an advertising company is ‘Service With Dignity’. Its
management and work force is hard-working, honest and motivated. The net profit of
the company doubled during the year ended 31-3-2014. Encouraged by its
performance company decided to give one month extra salary to all its employees.
Following is the Comparative Statement of Profit and Loss of the company for the

years ended 31* March 2013 and 2014.

Yash Ltd.
Comparative Statements of Profit and Loss.
Particulas Note | 201213 | 2013-14 %‘;f;’lll‘;e %
No. 4 4 z Change
Revenue from operations 10,00,000| 15,00,000{ 5,00,000 50
Less Employees benefit expenses 6,00,000 7,00,000 1,00,000 16.67
Profit before tax 4,00,000 8,00,000, 4,00,000 100
Tax Rate 25% 1,00,000 2,00,000 1,00,000 100
Profit after tax 3,00,000 6,00,000| 3,00,000 100
(a) Calculate Net Profit Ratio for the years ending 31" March, 2013 and 2014.
(b) Identify any two values which Yash Ltd. is trying to propagate.
23, 31-3-2014 1 g GieR ferfiee o1 feafa fqeror e R 9 &
o9 qrar fafiee
31-3-2014 = feafa faazor
@ A | 2013-14 | 2012-13
b, 4 4
I HHAT qIT 3T
(1) 3wy et
() 3T e 12,00,000| 11,00,000
(@) Toa ud S 1 3,00,000|  2,00,000
(2) =T TFATE
TIERIAT 0T 2,40,000/  1,70,000
(3) =] S
(F) AR T 1,79,000|  2,04,000
(@) T Tae= 50,000 77,000
et IhT 19,69,000| 17,51,000
[I. gREmaar
(1) 3T yREmar
(%) TR qREEEr
(i T 2 |10,70,000]  8,50,000
(i) e 3 40,000{  1,12,000
(2) =] SETT
(®) = fqaw 2,40,000|  1,50,000
(@) W (HTerg) 1,29.000|  1,21,000
(M) AR Wit 1,70,000|  1,43,000
(&) kg aqAT AhE oA 3,20,000]  3,75,000
et I 19,69,000| 17,51,000
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Tl o AleH ¢

N rareuT 201:-14 2011-13
1. [G=aug ey
TfeeRT (GM-g1 faaRoT =t o) 3,00,000| 2,00,000
2. | uREwtEt
BMICK 12,70,000| 10,00,000
EIT : USRI Jodgrd (2,00,000)| (1,50,000)
3. |oTqe Uit
T 40,000| 1,12,000
FAferier G :
a9 H UH wIH, FEH A T 24,000 of T S W G gewe™ 16,000 o1, i
% 6,000 T S=T T4 |
Jehg TaTE fae’or JaR ST |

Following is the Balance Sheet of Thermal Power Ltd. as at 31-3-2014 :

Thermal Power Ltd.
Balance Sheet as at 31-3-2014
. Note | 2013-14 | 2012-13
Particulars No. z z
1. EQUITY AND LIABILITIES
(I)  Shareholders Funds
(a)  Share Capital 12,00,000| 11,00,000
(b) Reserves and Surplus 1 3,00,000 2,00,000
(2) Non Current Liabilities
Long Term Borrowings 2,40,000 1,70,000
(3) Current Liabilities
(a) Trade Payables 1,79,000 2,04,000
(b) Short Term Provisions 50,000 77,000
Total 19,69,000f 17,51,000
11. ASSETS
(I) Non-current Assets
(a) Fixed Assets
(i) Tangible 2 10,70,000 8,50,000
(i1) Intangible 3 40,000 1,12,000
(2) Current Assets
(a) Current Investments 2,40,000 1,50,000
(b) Inventories 1,29,000 1,21,000
(c) Trade Receivables 1,70,000 1,43,000
(d) Cash and Cash equivalents 3,20,000 3,75,000
Total 19,69,000f 17,51,000
67/1/3 21
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Notes to Accounts :

S. No. Particulars 201314 201213
4 4
1.  [Reserves and Surplus
Surplus (balance in statement of
Profit and Loss) 3,00,000| 2,00,000
2.  [Tangible Assets
Machinery 12,70,000( 10,00,000
Less : Accumulated Depreciation (2,00,000)| (1,50,000)
3.  |Intangible Assets
Goodwill 40,000| 1,12,000

18.

67/1/3

Additional information :

During the year a piece of machinery, costing I 24,000 on which accumulated

depreciation was ¥ 16,000, was sold for I 6,000.

Prepare Cash Flow Statement.

a7
PART - C

(i sraie)

(Computerized Accounting)

A THTE. T AT T

() AT ST Ta= HOTredr |

(@) ST ST Yo FeadT |

() ST SR Ta= oTred! |

() STURYA &7 Qe H1 o |
‘DBMS’ stands for :

(a) Dividend Based Management System.
(b) Data Based Management Software.
(c) Data Base Management System.

(d) Divide the Basic Master Software.
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19.

20.

21.

22.

23.

TS SThiHh IS § ACTd 3 HIS W & S hd! U0l 0 3T F9I TFRT | T Sl & 7

() TS T SR Dl Teh R 569 U {ohaT ST ¢ |

(@) & YUAT i @ e UG T S € |

ISEREEIEARCN R A s

() ST YOS Sl Seh T o s § i fohar STt € | 1
A sequential code refers to a code applied to some document where :

(a) Numbers and letters are assigned in consecutive order.

(b)  Where account heads are assigned to documents.

(c) Special names are given to documents.

(d)  When documents are arranged in sequence of their names.

SORE TG HHeaaY’ S & 37 § ? GHeey | 4

What is meant by ‘Tailored accounting software’ ? Explain.

T o o6 5RT U8 0 ST ool ot S THemsy | 4

Explain the information provided by a salary bill.

AGIH Gireaay § GO, Fivaddr qer Mo=Ear St foeisarsti 1 =1 =i sewash § 2
T HTEAT I GHATST ST STel ol YTl TeH i ¢ | 4

Why is it necessary to have safety, security and confidentiality features in accounting
software ? Explain any two tools which provide data safety.

39 foria o/ T A Fa g0 39 THATET ST 39 Wayfd W ST ST Sl TOET T & S
3Tafeh TS T ST AT & | 6

Name and explain the function which calculates periodic payment of an annuity
assuming equal payments and a constant rate of interest.
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